Answer Key ¢ Lesson 4: Buildings and Plans

3. A. Romesh used 13 cubes to make this building plan.
He forgot to fill in one part of the plan. Find the missing
number. Write a number sentence.

2.4 1

Number sentence

B. Show or tell how you found the missing number.
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3. A. Missing number is 3; Number sentences

will vary. Possible number sentence:
2+4+1+1+3+2=13 cubic units

B. Possible response: I know the volume is

13 cubic units, so I started with 13 and
subtracted the values that were listed on the
building plan. 13 -2=11; 11 -4=17;
7-1=6;6-1=5;5-2=3,s01know
that 3 is the missing value.
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Match each building plan with the picture of the building and
connect them with a line. Then tell what number sentence goes
with each Building Plan.

Back JCIE)
- oo o)
SCHEEINS: s o o
Left _ 3.8 71Right Ll i
1 : o olo)
Front
Building Plan 1 Chair Building
Back
\7 7\
Shs el Rl )
Leftli 21212 71Right
Front
Building Plan 2 Box Building

3+3+3+3+3+3=18
Building Plan

ndall Hunt Publishing Company

2+2+2+4+4+4=18
Building Plan

Homework Master TG+ Grade 2 - Unit 10 - Lesson 4

Teacher Guide

Teacher Guide

Match Up (TG)

Homework
Back
" Taisia] |
Left | 81813 | Right
Front

Left

TG - Grade 2 - Unit 10 - Lesson 4 - Answer Key

Building Plan 1

Box Building

3+3+3+3+3+3=18
Building Plan _1

Back o0 ..
I ool
:p_q_4_:‘_“_4___4: = =1T_nl
12212 [ 1 Right o0 o0
L] oo o)

Front
Building Plan 2 Chair Building

2+2+2+4+4+4=18
Building Plan _2

Auedwo) 8uiyslignd JUnH |lepuay @ yguAdo)



Answer Key * Home Practice

Part 4. Just the Facts (TG p. 3)
Name pate Questions 1-3
€ Just the Facts | A 9 — 1:+6
1. MakeeachEbersentencetrue. |:| B. 1 + 6: 8 _
A9—1= +6 B. 1+6=8-—
C.4-[0]=4+0
c.4—|:|:4+0 D.4+|:|:6—1 D.4+:6—1
E.3+|:|:5—2 F.7—2:|:|+4
E.3+[0]=5-2
2. Complete the fact families. F 7 B 2 - * 4
2. A1+5=6 B. 3+5=38
A5+1=6 B. 5+3=8 C. 1+8=9
- - - 6—5=1 8§—5=3
6—1=5 8§—3=5
C.8+1=9
3. Solve the addition and subtraction problems. ii 9 — 8 =1
Adr1=[ | B.60-20=| | % 9—-1=8
s0+10-] 6-2=[ | 3. A.4+1=[5 B. 60—20=[0
cro+[ J-e0 o 5-3=[ ] 40+10=50 6-2=[4]
- -] ] C.10+[70=80 D. 5-3=[2]
1+[7]=38 50 — 30 = [20]
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Part 5. Checking with Addition
Questions 1-2 (TG p. 4)

Name Date

Checking with Addition

1. Kim’s solution to some subtraction problems are below. |. A WI'OIlg
She made some mistakes. Use addition to check her answers
and find her mistakes. If an answer is wrong, rewrite the 813
problem and solve it correctly. 56 93
Check with Addition Solve the Problem + 4 9 4 9
A 93 105 44
—49
56
B. Correct
B. 49
27 22
22 4 27
c. o 49
=39
3 C. Wrong
32

2. Solve by making both sides equal.

+39

A.8+12:18+|:| B.9+16:19+|:| 71

C.6+14:16+|:| D.5+23:15+|:| -40
W
E.17+3:7+|:| F.21+7:11+|:|

& Company
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Part 6. Comparing Masses (TG p. 5)
Questions A-D

A.

Eo=

I L

Picture 2 Picture 3
B.
Picture 2 Picture 3

C.
&oe I
D.

Picture 3

Name Date

@@ Comparing Masses

AKX X

100g 50g

Compare the two quantities in the balance pans. Circle the picture
that shows what will happen.
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< less than
> greater than
= equal to

A
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